Отроительство

...,...,..

$$() , \qquad 1 \qquad 1, \qquad R_1 \qquad L_2 \qquad . \\ 3 \qquad 3, \qquad R_3 = R_1 - (H_1 + H_3)/2 \qquad (L_3 - L_1). \qquad , \\ L_1 \le x \le L_2 \qquad . \qquad , \qquad 1 = 3 = (), \\ v_1 = v_2 = v () \qquad) \qquad .$$

$$(x = 0)$$
 , $(x = L_3)$



$$\varepsilon_{1}^{(j)} = \frac{\partial u^{(j)}}{\partial x}, \quad \partial l_{1} = -\frac{\partial^{2} w^{(j)}}{\partial x^{2}},$$

ВЕСТНИК ИрГТУ №2 (34) 2008

Отроительство

$$\varepsilon_{2}^{(j)} = \frac{\partial v^{(j)}}{R \partial \theta} + \frac{1}{R} w^{(j)}, \ \partial l_{2} = -\frac{\partial^{2} w}{R^{2} \partial \theta^{2}} - \frac{w}{R^{2}}, \tag{1}$$

$$\varepsilon_{12}^{(j)} = \frac{\partial u^{(j)}}{R \partial \theta} + \frac{\partial v^{(j)}}{\partial x}, \ \partial l_{12} = -\frac{2}{R} \frac{\partial^{2} w}{\partial \theta \partial x} + \frac{2}{R} \frac{\partial v^{(j)}}{\partial x}.$$

$$j \cdot u^{(j)} = u - z \frac{\partial N}{\partial x},$$

$$v^{(j)} = \left(1 + \frac{z}{R}\right) v - \frac{z}{R} \frac{\partial w}{\partial \theta}, \qquad (2)$$

$$; w^{(j)} = w(x, \theta), u(x, \theta), v = v(x, \theta).$$

Ζ-

$$\sigma_{x}^{(j)} = \frac{E}{1 - v^{2}} [(\varepsilon_{1} + v\varepsilon_{2}) + z(\partial l_{1} + v\partial l_{2})],$$

$$\sigma_{\theta}^{(j)} = \frac{E}{1 - v^{2}} [(\varepsilon_{2} + v\varepsilon_{1}) + z(\partial l_{2} + v\partial l_{1})],$$

$$\tau_{x\theta} = G(\omega + z\tau).$$
(3)

i-

$$\frac{\partial T_1}{\partial x} + \frac{1}{R} \frac{\partial S}{\partial \theta} = p , \quad \frac{1}{R} \frac{\partial T_2}{\partial \theta} + \frac{\partial S}{\partial x} + \frac{Q_2}{R} = 0 ,$$

$$-\frac{T_2}{R} + \frac{\partial Q_1}{\partial x} + \frac{\partial Q_2}{R \partial \theta} = 0 , \quad \frac{\partial M_1}{\partial x} + \frac{1}{R} \frac{\partial H}{\partial \theta} = Q_1 ,$$

$$\frac{1}{R} \frac{\partial M_2}{\partial \theta} + \frac{\partial H}{\partial x} = Q_2 .$$
(4)

[1]:

$$T_{1} = C(\varepsilon_{1} + v\varepsilon_{2}) + k(\partial l_{1} + v\partial l_{2}),$$

$$T_{2} = C(\varepsilon_{2} + v\varepsilon_{1}) + k(\partial l_{2} + v\partial l_{1}),$$

$$S = C_{6}\omega + k_{6}\partial l_{12},$$

$$M_{1} = D(\partial l_{1} + v\partial l_{2}) + k(\varepsilon_{1} + v\varepsilon_{2}),$$

$$M_{2} = D(\partial l_{2} + v\partial l_{1}) + k(\varepsilon_{2} + v\varepsilon_{1}),$$

$$H = D_{6}\tau + k_{6}\omega.$$
(4) (5) $T_{1}, T_{2}, S = \frac{1}{2}$

.

$$H = D_{6}t + k_{6}\omega.$$
(1)-(5) i, (4) (5) $I_{1}, I_{2}, S = (x, \beta = R\theta).$ (5)

$$C = \frac{(H_{1} + H_{3})E}{1 - \nu^{2}}; C_{6} = (H_{1} + H_{3})\frac{E}{2(1 + \nu)}; D = \frac{2EH^{3}}{3(1 - \nu^{2})}; D_{6} = \frac{2}{3}H^{3}\frac{E}{1 + \nu};$$

$$k = \frac{(H_{1} + H_{3})H_{3}E}{2(1 - \nu^{2})}; k_{6} = -H_{3}\left(\frac{H_{1}}{2} + \frac{H_{3}}{2}\right)\frac{E}{2(1 - \nu)}; H^{3} = \sqrt[3]{\frac{H_{1} + H_{3}}{2}\left[\left(\frac{H_{1}}{2} + H_{3}\right)^{2} - \frac{H_{1}H_{3}}{2}\right]}.$$
 (6)
(5) $L_{1} \le x \le L_{2}.$
1 3, (6) $H_{3} = 0, H_{1} = H_{1}, H_{1} = H_{3}$

(

Строительство

) [1,2].

$$u_{i}^{*} = [u_{i1} + u_{i2}x + u_{i3}x^{2} + (u_{i4} + u_{i5}x)\cos\theta]H_{1};$$

$$v_{i}^{*} = (v_{i1} + v_{i2}\overline{x} + v_{i3}\overline{x})\cos\theta * H_{1};$$

$$w_{i}^{*} = [w_{i1} + w_{i2}\overline{x} + (w_{i3} + w_{i4}\overline{x} + w_{i5}\overline{x}^{2})\cos\theta]H_{1};$$
(7)

$$T_{1^*}^{(i)} = (T_{i1} + T_{i2} \dot{\overline{x}} + T_{i3} \cos \theta) EH_1.$$
(8)

$$\sigma_x^{(i)} = \frac{T_{1^*}^{(i)}}{H_i}, \ \tau_{x\theta}^{(i)} = \gamma_i (\tau_{i1} + \tau_{i2} \bar{x}) \sin \theta / H_1,$$
(9)

$$i = 1, 2, 3$$
 ($0 \le x \le L_1, L_1 \le x \le L_2, L_2 \le x \le L_3$). (4)

.

ရ

(

:

,

$$x = 0$$
 $(u^* = 0, \varepsilon_2^* = 0)$ $x = L_3$

$$(T_{1,*}^{(3)} = \frac{P^{*}}{2\pi R_{3}} \qquad T_{1,*}^{3} = \frac{M^{*}}{\pi R_{3}}\cos\theta).$$
$$T_{1*}^{(i)} \qquad x = 0,$$

i = 1, i = 2, i = 3,

$$x = 0$$

1

$$\begin{aligned} \bar{x} &= \frac{x}{L_3}, \gamma_i = \frac{\bar{h}_1}{(2(1+\nu)R_i)}; \\ u_{11} &= 0; \ u_{12} = \frac{l_3 T_1^*}{h_1}; \ u_{13} = \frac{l_3 P_1}{2h_1}; \ u_{14} = 0; \ u_{15} = -\frac{M l_3 h_1}{(\pi \overline{R}_3^2)}; \\ u_{21} &= U_0^{(2)}; \ u_{22} = \frac{l_3 T_2^*}{h_2}; \ u_{23} = \frac{l_3 P_2}{2h_2}; \ u_{24} = \frac{W_0^{(2)} \overline{R}_2}{h_1}; \ u_{25} = -\frac{u_{15}}{R_2 h_2}; \\ u_{31} &= U_0^{(3)}; \ u_{32} = \frac{l_3 T_3^*}{h_3}; \ u_{33} = \frac{l_3 P_3}{2h_3}; \ u_{34} = \frac{W_0^{(3)} \overline{R}_3}{h_1}; \ u_{35} = -\frac{u_{15}}{h_3}; \\ v_{11} &= -V_0^{(1)} + \frac{\nu h_1 M}{(\pi \overline{R}_3^2)}; \ v_{12} = 0; \ v_{13} = -\frac{l_3^2 h_1 M}{(2\pi R_3^2)}; \\ v_{21} &= -V_0^{(2)} + \frac{\nu h_1^2 M}{(\pi \overline{R}_3 h_3)}; \ v_{32} = \frac{l_3 W_0^{(2)}}{h_1}; \ v_{33} = -\frac{l_3^2 h_1^2 M}{(2\pi R_3^2 h_2)}; \\ v_{31} &= -V_0^{(3)} + \frac{\nu h_1^2 M}{(\pi \overline{R}_3 h_3)}; \ v_{32} = \frac{l_3 W_0^{(3)}}{h_1}; \ v_{33} = -\frac{l_3^2 h_1^2 M}{(2\pi R_3^2 h_3)}; \\ \gamma_i &= \frac{h_1}{[2(1+\nu)\overline{R}_i]}; \ \tau_{i1} = -u_{i4} + \frac{\overline{R}_i v_{i2}}{l_3}; \ \tau_{i2} = -u_{i5} + 2\frac{\overline{R}_i v_{i3}}{l_3}; \ \tau_{i3} = \frac{2h_1 \beta_i}{l_3} (i = 1, 2, 3); \end{aligned}$$

ВЕСТНИК ИрГТУ №2 (34) 2008

$$\begin{split} T_{1}^{*} &= -\overline{P}_{3} - \overline{P}^{*}, \ T_{2}^{*} &= (\overline{P}_{3} - \overline{P}_{2})\overline{L}_{2} + T_{3}^{*}; \ \overline{T}_{1}^{*} &= (\overline{P}_{2} - \overline{P}_{1})\overline{L}_{1} + T_{2}^{*}; \\ V_{0}^{(1)} &= \frac{\sqrt{h_{1}M}}{(\pi\overline{R}_{3}^{*})}, \ V_{0}^{(2)} &= V_{0}^{(1)} - f_{1}\left(1 - \frac{h_{1}}{h_{2}}\right)\overline{M} - \left(1 - \frac{h_{1}}{h_{2}}\right)V_{0}^{(1)}; \\ V_{0}^{(3)} &= V_{0}^{(2)} - \frac{\overline{L}_{2}I_{1}}{h_{1}} \left(W_{0}^{(2)} - W_{0}^{(3)}\right) + f_{2}\left(1 - f_{3}\right)\overline{M} - f_{3}\left(1 - f_{4}\right)V_{0}^{(1)}; \\ W_{0}^{(1)} &= 0, \ W_{0}^{(2)} &= f_{6}\left(1 - \frac{h_{1}}{h_{2}}\right)\overline{M} : W_{0}^{(3)} = \frac{1}{R_{3}}\left[W_{0}^{(2)} - f_{7}\left(1 - \frac{h_{1}}{h_{2}}\right)\overline{M}\right]; \\ f_{4} &= \frac{\overline{R}_{2}h_{3}}{R_{3}h_{3}}; \ f_{6} &= \frac{1}{\pi}\frac{\overline{L}_{2}h_{1}^{2}}{\overline{R}_{3}^{2}}; \ f_{7} &= \frac{1}{\pi}\frac{\overline{h}_{1}^{3}L_{2}f_{3}}{R_{3}^{2}h_{2}}. \\ w_{11} &= \frac{V_{1}^{1}}{h_{1}}, \ w_{12} &= \frac{V_{1}^{h}}{\pi}, \ w_{13} &= \overline{V}_{0}^{(1)}, \ w_{14} = 0, \ w_{15} &= \frac{1}{2\pi}\frac{h_{1}^{l_{2}^{2}}}{R_{3}^{2}}\overline{M}; \\ w_{21} &= \frac{V_{1}^{T}}{h_{2}}, \ w_{22} &= \frac{V\overline{P}_{1}^{*}}{h_{2}}, \ w_{13} &= \overline{V}_{0}^{(1)}, \ w_{24} &= -\frac{l_{3}}{h_{1}}W_{0}^{(2)}, \ w_{25} &= \frac{1}{2\pi}\frac{h_{1}^{l_{2}^{2}}}{R_{3}^{2}h_{3}}\overline{M}; \\ w_{31} &= \frac{V_{1}^{T}}{h_{3}}, \ w_{32} &= \frac{V\overline{P}_{3}}{h_{3}}, \ w_{33} &= \overline{V}_{0}^{(3)}, \ w_{34} &= -\frac{l_{3}}{h_{1}}W_{0}^{(3)}, \ w_{35} &= \frac{1}{2\pi}\frac{h_{1}^{l_{2}^{2}}}{R_{3}^{2}h_{3}}\overline{M}; \\ T_{11} &= T_{1}^{*}; \ T_{12} &= \overline{P}_{1}; \ T_{13} &= -\frac{1}{\pi}\frac{h_{1}^{2}}{\pi\overline{R}_{3}^{2}}\overline{M}; \\ T_{31} &= T_{3}^{*}; \ T_{32} &= \overline{P}_{3}; \ T_{33} &= -\frac{1}{\pi}\frac{h_{1}^{2}}{\pi\overline{R}_{3}^{2}}\overline{M}; \\ H &= \frac{H_{1}}{H_{3}}, \ \overline{h}_{1} &= \frac{H_{1}}{R_{1}}, \ \overline{R}_{1} &= \frac{R_{1}}{R_{1}}, \ \overline{P}_{2} &= \sqrt{\frac{L_{1}}{R_{1}}\frac{h_{1}}{R_{1}}}, \ \overline{P}_{1} &= \frac{p_{1}L_{2}}{EH_{1}}, \\ \overline{P}_{1} &= \frac{p_{1}L_{2}}{\sqrt{h_{1}}}; \ \overline{P}_{2} &= \sqrt{\frac{h_{1}}{R}\frac{h_{1}^{2}}{M}}; \ \overline{P}_{3} &= \sqrt{\frac{h_{1}}{1}\frac{h_{1}}{EH_{1}}}, \\ H_{2} &= H_{1} + H_{3}; \ R_{2} &= R_{1} \quad R_{3} &= R_{1} - \frac{1}{2}(H_{1} + H_{3}). \\ \dots & x = 0, x = L_{1}, x = L_{2} \end{cases}$$

$$x = 0, x = L_1, x = L_2.$$

$$i = [2]:$$

$$\frac{d^4 w_i}{dx^4} + 4\beta_i^4 w_i = 0,$$
(11)

.

45

$$\begin{split} \beta_{i}^{i} &= \frac{EH_{i}}{4R_{i}^{2}D_{i}}; D_{i} \quad \mapsto \qquad 0 \leq x \leq L_{i}, \ L_{2} \leq x \leq L_{3} \\ (i = 1, i = 3) \ \beta_{i}^{4} &= \frac{3(1 - \nu^{2})}{R_{i}^{2}H_{i}^{2}}; \ \beta_{3} &= \frac{3(1 - \nu^{2})}{R_{i}^{2}H_{i}^{2}}; \ L_{1} \leq x \leq L_{2} (i = 2) \\ \beta_{2}^{4} &= \frac{EH_{2}}{4R_{2}^{2}D_{2}} &= \frac{3H_{2}(1 - \nu^{2})}{R_{i}^{2}(H_{i} + H_{i})(H_{i}^{2} + 2H_{i})^{2} - 2H_{i}H_{3}}; \ (12) \\ \beta_{2}^{4} &= \frac{4R_{i}^{2}D_{2}}{R_{i}^{2}(H_{i} + H_{3})(H_{i}^{2} + 2H_{i})H_{3} + 4H_{3}^{2}}, \\ \overline{\beta}_{1} &= \beta_{1}L_{3} &= \frac{4\sqrt{3(1 - \nu^{2})}}{\sqrt{h_{1}}} t_{i}; \ \overline{\beta}_{2} &= \overline{\beta}_{i}h_{3}(\frac{h_{2}}{hh_{i}(1 + h)(4 + 2H + h^{2})}; \ \overline{\beta}_{3} &= \beta_{i}\sqrt{\frac{h_{3}}{2 - h_{i} - h_{3}}}, \\ \overline{\beta}_{1} &= \beta_{i}L_{3} &= \frac{4\sqrt{3(1 - \nu^{2})}}{\sqrt{h_{1}}} t_{i}; \ \overline{\beta}_{2} &= \overline{\beta}_{i}h_{3}(\frac{h_{2}}{hh_{i}(1 + h)(4 + 2H + h^{2})}; \ \overline{\beta}_{3} &= \beta_{i}\sqrt{\frac{h_{3}}{2 - h_{i} - h_{3}}}, \\ (13) &= \frac{1}{\sqrt{\mu_{0}^{(i)}}} = A_{i}^{(i)}\psi_{1}^{(i)}(x) + B_{i}^{(i)}\psi_{2}^{(i)}(x) + A_{2}^{(i)}\psi_{3}^{(i)}(x) + B_{2}^{(i)}\psi_{4}^{(i)}(x) &= (i = 1, 2, 3), \\ (13) &= \frac{1}{\sqrt{\mu_{0}^{(i)}}} + \frac{1}{\sqrt{\mu_{0}^{2}}} B_{2}^{(i)}, \\ W_{1}^{(i)} &= \cos\overline{\beta}_{i}(\overline{x} - \overline{L}_{i-1})\exp(-\overline{\beta}_{i}(\overline{x} - \overline{L}_{i-1})); \\ \psi_{1}^{(i)}(x) &= \cos\overline{\beta}_{i}(\overline{x} - \overline{L}_{i-1})\exp(-\overline{\beta}_{i}(\overline{x} - \overline{L}_{i-1})); \\ \psi_{2}^{(i)}(x) &= \sin\overline{\beta}_{i}(\overline{L}_{i} - \overline{x})\exp(-\overline{\beta}_{i}(\overline{L}_{i} - \overline{x})); \\ (14) \\ \psi_{1}^{(i)}(x) &= \sin\overline{\beta}_{i}(\overline{L}_{i} - \overline{x})\exp(-\beta_{i}(\overline{L}_{i} - \overline{x})); \\ (x = 0) \\ x = L_{1} \quad x = L_{2} \\ x = 0 \\ W_{1}^{(i)} + W_{13} + W_{14} = 0; \\ x = L_{1} \qquad x = L_{2} \\ w_{1}^{(i)} + W_{13} + W_{14} = 0; \\ \frac{\partial W_{1}^{(i)}}{\partial x} + W_{14} + 2W_{15}L_{1}^{2} = W_{1}^{(i)} + W_{23} + W_{24}L_{1} + W_{25}L_{1}^{2}; \\ \frac{\partial W_{1}^{(i)}}{\partial x} + W_{14} + 2W_{15}L_{1} = \frac{\partial W_{1}^{(i)}}{\partial x^{2}} + W_{24} + 2W_{25}L_{1}^{2}; \\ \frac{\partial W_{1}^{(i)}}{\partial x^{2}} + 2W_{15} \right) = D_{2} \left(\frac{\partial^{2}W_{1}^{(i)}}{\partial x^{2}} + 2W_{25}\right); \\ x = L_{2} \\ W_{1}^{(i)} + W_{23} + W_{24}L_{2} + W_{25}L_{2}^{2} = W_{1}^{(i)} + W_{33} + W_{34}L_{2} + W_{35}L_{2}^{2}; \\ \frac{\partial W_{1}^{(i)}}}{\partial x^{2}} + W_{23} + W_{24}L_{2} + W_{25}L_{2}^{2} = W_{1}^{(i)} + W_{3$$

Строительство

$$\begin{split} D_{2} & \left(\frac{\partial^{2} W_{y}^{(0)}}{\partial x^{2}} + 2 W_{33} \right) = D_{3} \left(\frac{\partial^{2} W_{y}^{(0)}}{\partial x^{2}} + 2 W_{33} \right); \\ (17) \\ D_{2} & \left(\frac{\partial^{2} W_{y}^{(0)}}{\partial x^{3}} \right) = D_{3} \left(\frac{\partial^{2} W_{y}^{(0)}}{\partial x^{3}} \right); \\ (15) - (17) & W_{1,1} W_{y}^{(0)} \\ \vdots \\ A_{1}^{(1)} &= -V_{0}^{(1)}; & B_{1}^{(1)} &= \frac{\Delta_{1}}{\Delta_{1}}; \\ (1) &= \frac{\Delta_{1}}{\Delta_{1}}; & B_{2}^{(1)} &= \frac{\Delta_{2}}{\Delta_{1}}; \\ A_{1}^{(2)} &= \frac{\Delta_{1}}{\Delta_{1}}; & B_{1}^{(2)} &= \frac{\Delta_{1}}{\Delta_{2}}; \\ A_{2}^{(2)} &= \frac{\Lambda_{1}}{\Delta_{1}}; & B_{1}^{(2)} &= \frac{\Lambda_{2}}{\Delta_{1}}; \\ A_{2}^{(2)} &= A_{1}(-B_{1}(\beta_{12} + g_{12}) + (1 + g)(g_{12} + \beta_{12}); \\ \Delta_{1} &= -[b_{1}(\beta_{12} + g_{2}) + g_{12}(g_{12} + \beta_{12}); \\ \Delta_{2} &= g(1 + \beta_{12})(b_{1}\beta_{12} - b_{3}) - (1 + g)[g_{12}(b_{2} + b_{1}\beta_{12}) + b_{3}\beta_{12}]; \\ A_{3} &= g(-b_{1} + b_{2} - b_{3}) - \beta_{12}(b_{1} - b_{3}) + g_{12}(-2b_{1} + b_{2}); \\ A_{4} &= b_{1}(g - \beta_{12}) - b_{2}(1 + g) + b_{1}(2 + g + \beta_{13}); \\ A_{5} &= g\frac{\overline{\beta_{1}}}{\overline{\beta_{1}}}, g_{12} &= \beta_{2}^{(2)} (\frac{D_{1}}{D_{1}}), g = \beta_{12}g_{12}, \\ \beta_{12} &= \frac{\overline{\beta_{2}}}{\overline{\beta_{2}}}, g_{21} &= \beta_{2}^{(2)} (\frac{D_{1}}{D_{1}}), g = \beta_{12}g_{12}, \\ \beta_{12} &= \frac{\overline{\beta_{2}}}{\overline{\beta_{2}}}, g_{21} &= \beta_{2}^{(2)} (\frac{D_{1}}{D_{1}}), g = \beta_{12}g_{12}, \\ \beta_{12} &= \frac{\overline{\beta_{2}}}{\overline{\beta_{2}}}, g_{21} &= \beta_{2}^{(2)} (\frac{D_{1}}{D_{1}}), g = \beta_{12}g_{2}g_{2}, \\ \beta_{12} &= \frac{\overline{\beta_{2}}}{\overline{\beta_{2}}}, g_{21} &= \beta_{2}^{(2)} (\frac{D_{2}}{D_{1}}), g^{*} &= \beta_{32}g_{2}g_{2}, \\ \beta_{12} &= \frac{\overline{\beta_{2}}}{\overline{\beta_{2}}}, g_{21} &= \beta_{2}^{(2)} (\frac{D_{2}}{D_{2}}), g^{*} &= \beta_{32}g_{2}g_{2}, \\ \beta_{12} &= \frac{1}{\overline{\beta_{1}}} [(W_{24} - W_{14}) + 2(W_{25} - W_{15})\overline{L_{1}}]; \\ b_{1} &= (W_{23} - W_{13}) + (W_{24} - W_{24})\overline{L_{2}}, W_{25} - W_{25})\overline{L_{2}}; \\ b_{1}^{*} &= \frac{1}{\overline{\beta_{2}}} [(W_{14} - W_{24}) + 2(W_{15} - W_{25})\overline{L_{2}}]; \\ b_{1}^{*} &= \frac{1}{\overline{\beta_{2}}} [(W_{14}$$

 $W^{(i)}_{\kappa p}$

 $M_{1}^{(i)} = \left[M_{1i} \varphi_{2}^{(i)}(\bar{x}) \cos \theta \right] E H_{1}^{2},$ $M_{2}^{(i)} = \nu M_{2i} M_{1}^{(i)},$ $Q_{1}^{(i)} = \left[Q_{1i} \varphi_{3}^{(i)}(\bar{x}) \right] E H_{1},$

(26)

 $T_2^{(i)} = \left[\overline{h}_i \varphi_0^{(i)}(\overline{x}) \cos \theta\right] E H_{1,i}$

Строительство

$$\sigma_{x}^{(i)} = \frac{\bar{h}_{1}}{h_{i}} \left\{ \left(T_{i1} + T_{i2}\bar{x} + T_{i3}\cos\theta \right) + 12\bar{z}_{i}\frac{h_{1}^{2}}{h_{i}^{2}}M_{1i}\varphi_{2}^{(i)}(\bar{x})\cos\theta \right\} E,$$

$$\sigma_{\theta}^{(i)} = \frac{\bar{h}_{1}}{h_{i}} \left\{ \bar{h}_{i}\varphi_{0}^{(i)}(x)\cos\theta + 12\bar{z}_{i}\frac{h_{1}^{2}}{h_{i}^{2}}M_{1i}\varphi_{2}^{(i)}(x)\nu\cos\theta \right\} E,$$

$$\tau_{x\theta}^{(i)} = \gamma_{i} \left[\tau_{i1} + \tau_{i2}\bar{x} + z_{i}\tau_{i3}\varphi_{1}^{(i)}(x) \right] E\sin\theta.$$

(26)

$$\sqrt[4]{3(1-v^2)}\sqrt{\frac{L_i}{R_i}\frac{L_i}{H_i}} > 3$$

(*i* = 1,2,3) 5%-

9»	1	_ (26)	«RASSTRUB-07» , ,	«	-
1. 2.	 	1	/		

. .



ВЕСТНИК ИрГТУ №2 (34) 2008

, . .